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1. This information is ________________ to everyone. (ACCESS) 

2. Will ____________________ slow before the global economy starts to accelerate? 

(CONSUME) 

3. The cost of the computer minus accumulated _____________ gives its value as a 

fixed asset. (DEPRECIATE) 

4. We need to improve the ______________________ of the board to shareholders. 

(ACCOUNT) 

5. These procedures will make companies more ___________________ to shareholders. 

(ACCOUNT) 

6.   He is the organization´s chief_____________________ . (ACCOUNT) 

7. Investors had become ________________ of the company’s _________________ 

practices. (SUSPECT, ACCOUNT) 

8. He doesn’t find it easy to work within_____________________ . (BUDGET, 

CONSTRAIN) 

9. We have been badly affected by the _______________ of orders. (CANCEL) 

10. For employers, a cheap labour supply contributes to capital________________ . 

(ACCUMULATE) 

11. During the long bull market, investors could depend on steady 

capital________________________ . (APPRECIATE) 

12. The court ordered the manufacturer to pay nearly €500 000 in fines 

and_______________ . (DAMAGE) 

13. His invention was not ________________ successful. (COMMERCE) 

14. There is a large amount of forged money in___________________. (CIRCULATE) 

15. Four firms have been involved in technical ____________________on this project. 

(COLLABORATE) 

16. Job losses will be dealt with through ____________________________. (COLLECT, 

BARGAIN) 

17. The ______________ of the two producers would create the world’s largest chemical 

company. (COMBINE) 

18. The company’s _______________________ to providing quality at low prices has 

been vital to its success. (COMMIT) 

19. The benefits of the two schemes are broadly____________________. (COMPARE) 

20.  Truthful ____________________advertising can be an important way of informing 

people about different products. (COMPARE) 

21.  The new system will be __________________ with existing equipment. 

(COMPATIBILITY) 

22.  The bank was judged to be _________ for _____________   _______________to 

customers who received poor_______________.   (LIABILITY,COMPENSATE, PAY, 

ADVISE) 

23. We have a wide range of electrical goods at ________________prices. (COMPETE) 

24. It was an attempt to improve the ________________________ of British industry. 

(COMPETE) 

25. I’d like to make a__________________. (COMPLAIN) 

26. All our products are in ___________________ with existing safety laws. 

(COMPLY) 

27. The firm will be forced to make ______________________ if it wants to avoid a 

strike. (CONCEDE) 
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28. I’ve come to the ___________________ that he’s not the right person for the job. 

(CONCLUDE) 

29. The ______________ are ________________ on the _______________ of 

shareholders. (PROPOSE, CONDITION, APPROVE) 

30. We have complete ____________________ in our products. (CONFIDE) 

31. This information is________________  _____________. (STRICT, CONFIDE) 

32. We are waiting for _________________ of the report. (CONFIRM) 

33.  By following these policies, the country risks a ________________ with the EU. 

(CONFRONT) 

34. ___________________ of the new offices has now been completed. (CONSTRUCT) 

35. The company sent out millions of emails to try to influence 

consumer____________________. (BEHAVE) 

36. There is a need for greater _______________   ____________in e-commerce. 

(CONSUME, PROTECT) 

37. The company failed to meet its______________  _________________. 

(CONTRACT, COMMIT) 

38. Environmental taxes make only a small _______________________to government 

revenues. (CONTRIBUTE) 

39. She’s been appointed _________________ of their US________________. 

(CONTROL, OPERATE) 

40. Can you telephone me at your ___________________ to arrange a meeting? 

(CONVENE) 

41. The fact that the money of a particular country can easily be changed into the money 

of another country is referred to as_____________________.   (CONVERT) 

42. All payments shall be made in freely _________________ currency. (CONVERT) 

43. As the bottles move along the _________________ belt, tubes drop the right 

medicine into the right bottle. (CONVEY) 

44. The organization has been in ____________________ with the bank about the 

matter. (CORRESPOND) 

45. To distribute indirect costs fairly and____________________ , a cost 

________________________ plan needs to be developed. (CONSISTENT, ALLOCATE) 

46. The cost of maintaining our computer systems is now higher than the 

________________________ cost. (REPLACE) 

47. _________________ and ________________ are more important than technical 

skill. (CREATE, ORIGINAL) 

48. It´s a  firm specializing in credit___________________. (ANALYSE) 

49. She joined the bank as a credit___________________. (ANALYSE) 

50. The country has managed to restore its international credit_______________. 

(STAND) 

51. They are suffering from poor customer ______________ rates. (ACQUIRE) 

52. We send thank-you letters’ to all our clients as a way of strengthening 

customer_________________. (LOYAL) 

53. There is growing consumer _________________ to genetically modified foods. 

(RESIST) 

54. Our staff work as a team to achieve customer__________________. (SATISFY) 

55. We _________________ our training courses to fit the needs of your staff. 

(CUSTOM) 

56. History has shown that economic markets are________________. (CYCLE) 
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57. If you are late with a payment, your account may be handed over to a debt 

_____________________agency. (COLLECT) 

58. They employed a team of debt ________________ to recover 

________________fees. (COLLECT, PAY) 

59. The bankruptcy laws allow a _____________ to seek protection 

from____________________. (DEBT, CREDIT) 

60. Because of the current difficulties to pay the debts, the company needs fresh funding 

and debt _____________________in order to survive.  (SCHEDULE) 

61. The company has decided to _____________________, i.e. to divide the 

responsibilities of running an organization between many different people. (CENTRE) 

62. The campaign was targeted at key __________________________. (DECIDE-

MAKE) 

63. These costs are _________________ from profits. (DEDUCT) 

64. The payment was made without ____________ of tax. (DEDUCT) 

65. The manufacture offered to repair or replace any _____________ products. 

(DEFECT) 

66. The government is introducing _____________ to combat___________ . 

(MEASURE, DEFLATE) 

67. They are sending a _____________ of business people to the talks. (DELEGATE) 

68. They offer guaranteed next-day ___________ to any home in the UK. (DELIVER) 

69. The decline reflects the ______________ of the euro against sterling. 

(DEPRECIATE) 

70. You can use the card to ______________ money from cashpoints all over the world. 

(DRAW) 

71. We have _____________ our account by €100 000. (DRAW) 

72. We need to renegotiate our _________________ facility. (DRAW) 

73. The bank was accused of _________________ customers by billions of dollars each 

year. (CHARGE) 

74. Mortgage customers should be clearly informed of _____________ such as 

_________________ charges. (PENALIZE, REDEEM) 

75. The company is making the difficult _______________ from public to 

private_____________________. (TRANSIT, OWN) 

76. When is the final date for the _________________ of proposals? (SUBMIT) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


